Dimension

A

JV15A*RX / A*RX-*RC / SA**RX

Load pressure connection 7/16-20 UNF

94 Diff. pressure adjustment screw
48
39 /
4MMN.
M18x1.5 SW27 6kt SW6.5 ] Diff. pressure adjustment screw Control A-RC
- Priming port /_(FC valve)
< B 44.5
—Pressure adjustment screw
) Z18 g Control SA
Case drain port G 3/8 6
X, 3 DIN 1SO 228 A b
Q_) N 9? - ) /-—E\4.76 10025, 5, Control A
AR —| © N :l /
- 9] H
O, % @) @S =W EEE
0] o U o / & i
—= (1)'\3 % © 3 = )
O o . S| ©leg|  Inlet port G1 Outlet port G1
S5 5y Flow adjustment screw 1.7 <3| @ DIN ISO 228 DIN ISO 228
< 105.6 147 = 9 g
© 207 2 &l s
C A
© JV15A*R / A*R-*RC / SA*™R
Diff. pressure adjustment screw
40 M18x1.5 SW27 6kt SW6.5 . .
Diff. pressure adjustment screw
Priming port a (FC valve) Control A-RC
" 48 44.5
U 34NIIN.
V) I " Control SA
) i Pressure adjustment screw
© Case drain portG 3/8 & !
g i - DIN ISO 228 Al 1217 =
5 0.025 Control A
@ ) — 04761677 x32
P70 Sk . = ©
4 A\ D-€
o/ 970 ol
(1)’\'50 8 [
- [Te) o1
. | ©le3 Inlet port G1 _| i
Q—b,‘\ Flow adjustment screw "7 (?L?) o> % DIN ISO 228 570 Outlet portG1
105.6 169.5 8| | o - DIN 1SO 228
168 - o < g 128
191 o ©
JV15C**RHX / C**RJ*X
Pressure adjustment screw Case drain port G 3/8
M18 x 1.5 SW 27 6kt SW6.5 DIN ISO 228
82MAX 193
_P2.1 Priming port
I} % L
® = H‘IBI ﬁ Control CH
2 P2l [\ ]]
82 MAX - 270 44.5
4 6
@ﬁ @ P2 I Control CJ
FP2.11 T T
N
o 3 2 04.7613°25x32
T < - ﬁ_
|7 ”'\’]_ e Wacy: - W e li
-5 O E 0 :
J o V2.l %l NI/ 9TF 2 I
Q ) © . v2.11
S e H g 2 = | outet port G
1.7 eS| 23 Inlet port G1 DIN ISO 228
105.6 4 Flow adjustment screw 147 — = v L DIN SO 228
% 5 5
S 284 MAX al ©

www.yeoshehydraulic.com




Dimension YEOSHE

JV15C**RHX / C**RJ*X

>

Case drain port G 3/8

DIN ISO 228
Pressure adjustment screw
M18 x 1.5 SW 27 6kt SW6.5
82 MAX 270 4.5/ Priming port
48 <L
——=7P2.1 o
Q Control D
N 2lp2.l S e E
e ol s | 04.76 1§32 .
Fr| Y| = —
| 5 = = ] 1.8 Q—)
& a\d <2
WP = T
'5 —
> 377 8 o2 S Outlet port G1 (¢)]
N . 93| <% i
105.6 | \«p Flow adjustment screw — "o | Inletport G1 DIN1SO 228
. 147 3 —
> Sl 5| DINIso228 @)
207 = >
©
C
JV23A*RX / A*RX-*RC / SA**RX ©
Load pressure connection 7/16-20 UNF / Diff. pressure adjustment screw
) ;7 14,7437
9 r— Diff. pressure adjustment screw (FC valve)
M18 x 1.5 SW 27 6kt SW6.5 Jgqu / g
/ Control A-RC
Priming port {' l— Pressure adjustment screw
o 52 / ) Control SA
Flow adjustment screw 51/ T gfﬁelsdéa'z”zgort G3/8
N 9 ).
- = A ] [ 0025 S Control A
o ol = —06.3+0 x35
-~ / | & - | I— | [
h 2 © — | | >
B b Y A <3
2 C N (A it
o [ Mo rq
S 1127 8_[es| Inletport G1
& — = %5 & DINISO 228 [ Outlet port G1
146 170 ol 8 DIN ISO 228
227 g N

JV23 AR /A% R-%RC / SA* %R

Load pressure connection 7/16-20 UNF7 Diff. pressure adjustment screw
X 71,

114
43 I- Diff. pressure adjustment screw (FC valve)
M18 x 1,5 SW 27 6kt SW6,5 . /
) Priming port / Control A-RC
| Pressure adjustment screw
1 —Eﬁ- ir/ 4
51 .
8 Flow adjustment screw /—— gl’d'ﬁsd(f)alznzgort G3/8 Control SA
to) 9
3 = 0
~ ) Control A
0 22l = —16.318°°x35 ®
o - ; 8
h 2 | ]
Sl GJ 3 G)J‘:L 41 | o D - €
by % - g Li 5
S = a= iz |
S WAR=E] s Inlet port G1 66.6
@ AN = : Outlet port G1
146 189 gl DINIso22s 180 DIN ISO 228
211 g N

Copyright@2016-YEOSHE-ALL RIGHT RESERVED.



A

dwnd uojsid jeixy Al

Dimension

JV23 Cx xRHX/ Cx xRJ» X

Pressure adjustment screw

M18 x 1.5 SW 27 6kt SW6.5 213 71.37
82 max
| Case drain port G 3/8
_ DIN ISO 228
] P21 /7 ﬂ Control CH
FP2.11
82 max - 51 L Priming port 90.5 68
3 rP2.1 /_ Control CJ
L P21 (e} "_-Z =
g i 06.3 1%
~— oo n +
/ RS - :lﬂ /- m
h © © — i >
7. 5 Vzan {::_) . LLes
75 N A\ R @
(D‘\'ﬂ © qv2 |1— | TR 2
, v2 Ii 2= 8 | &
Qfs?/ Flow adjustment screw a {27 3 = Inlet port G1 Outlet port G1
170 ~ g DIN ISO 228 DIN ISO 228
N
146 303 max o
JV23 Dx xRXxX
Case drain port G 3/8
DIN ISO 228
Pressure adjustment screw -
M18 x 1.5 SW 27 6kt SW6.5 290 Priming port
72 _[71.37,
P2.1 51
82 max 1.9
P2.11 oy
g Ol
o ]
[
= ol = = ~06.313°%x35
0 - - ]
/- ) o o 5 — (}\ i 1 ]
(7 h Jzan) j’*: °2
)T N~ =
2 N7 ~ =
2 ! 12 § Q
Q‘S?/ Flow adjustment screw {127 ?c‘i ocb Inlet port G1 Outlet port G1
170 o g DIN ISO 228 DIN I1SO 228
146 297 NN
JV23 Dx xRX*X
Case drain port G 3/8
DIN ISO 228
Pressure adjustment screw o
M18 x 1.5 SW 27 6kt SW6.5 290 Priming port
72 [71.37,
P2.I 51
82 max =
P2.11 Py
Gy 3 O
o I ‘l’ 4]
© @ 0.025
- ?uo’ 8 E ] /—\:‘6.3:0
d -—  I— [te}
i] Q © — jﬁ_ S
e o=
2 ar O o 2
(D,\’('L © =
1 ‘N2 8 o
S ’ 12.7 Solos
& Flow adjustment screw — = 7| @ Inlet port G1 Outlet port G1
170 ~ u°7 DIN ISO 228 DIN ISO 228
146 297 QUK

www.yeoshehydraulic.com




Dimension

YEOSHE

JV38A*RX / A*RX-*RC / SA*™*RX

Load pressure connection 7/16-20 UNF

Diff. pressure adjustment screw

39
|- Diff. pressure adjustment screw
(FC valve) Control A-RC
M18x1.5 SW27 6kt SW6.5
N - Pressure adjustment screw Control SA
@, Priming port
DIN ISO 228 G 1/2
o
[ee}
T N Control A
S go - 9-’_ 06.318 %2°x35
o 0| 2 - I
o] I ~ i 3
. i e uiLE | | 2
ar R Ii 2
(D'\ - [re) 0 Q2
S oo Outlet port G1 1/4
. 1.2 gol °F
Flow adjustment screw ELLET) NI Inlet port G1 1/4
&, o 179 3 8| DINISO 228 DINISO 228
146 233 g &
JV38A*R / A*R-*RC / SA*™R
Load pressure connection 7/16-20 UNF [Diﬁ' pressure adjustment screw
120 737
48 75.4
+ Diff. pressure adjustment screw
/ (FC valve) Control A-RC
M18x1.5 SW27 6kt SW6.5
IN
Pressure adjustment screw
L—
& Priming port — g Control SA
S Case drain port G 1/2
o 7 DIN ISO 228
Yo}
- b Control A
T ] 1 0.025
0 ol o ] 6.3 139 x35 @
5| — [s2] L ]
o f p © ~ HlH | | o3 q
@ , L INGH 2 MM
Y i : d VN
o ] s q
D fl e = SR S
g8 g © Y Outlet port G1 1/4
. 11.2 go| o2 Inlet port G1 1/4 DIN ISO 228
Jgg »%,0 Flow adjustment screw 02 g S DIN 1SO 228 66.6
222 S & 156
JV38 C**RHX / C**RJ*X
Pressure adjustment screw
SOMA. M18 x 1.5 SW 27 6kt SW6.5 219 71.37
P2.1 .
- Case drain port G 1/2
S — Ty | o] e
qIP2.11
- 296
82MAX 51| Priming port 90.5, 68
12.7 Control CJ
- P2 o o
— O p, e
s el = 6.315:92°x35
?m g & ™ i I 5
© " e —
. > V2l y/ AN\ g
@ .
3 == L_lzlzj_i,rr RS Outlet port G1 1/4
& , 112 $o[=S| Inlet port G1 174 DIN IS 228
146 % Flow adjustment screw 17§ +g | DIN ISO 228
309 MAX. S 8

Copyright@2016-YEOSHE-ALL RIGHT RESERVED.

>

dwnd uojsid |eixy Al



A

dwnd uojsid jeixy Al

Dimension

JV38 D**R*X

Case drain port G 1/2
DIN ISO 228

Pressure adjustment screw

M18 x 1.5 SW 27 6kt SW6.5 296 7137
82 MAX. \ 51 Priming port
P21 127 9/ Control D
o
BlpP2.1 ol;
- > - +0.025
~ Eg o N - I /—D6.3+o x35
A 2 0 g
- fﬁ | | oS
o &J \J &
2 ~ S
DY F = T3 © Outlet port G1 1/4
Z) Flow adjustment screw 11.2 3ol o2 DIN ISO 228
146 % 176 | | Inlet port G1 174
- Q| | DIN1SO 228
Sl
JV70A*RX / A*RX-*RC / SA**RX
L i -
oad pressure connection 7/16-20 UNF —\ 320 57
183
74 Diff. pressure adjustment screw -
o (FC valve) 77 XA o Control SA
@ Pressure adjustment screw 8?[\7“3"8‘163'2”220” G3/4 ,tej,
M22 x 1.5 SW 32 6kt SW8 102 / Lifting eye bolt
#1504 Priming port Control A-RC
FIow_adjustment screw ,6
X [ [roTe 10015 x38 Control A
[«
= T 3 ® [ g
] I <
D % N
4xM12, P L2 N 5
20tief/ deep /prof. - P
PP 18—'503 ‘?f) Inlet port Outlet port
35.7 73 ol @ SAE 1172 SAE 1 1/2
256.5 ~N S8 SAE J518
300 o 208
S
JV70 Cx % RHX
Case drain port G 3/4
) DIN ISO 228
Pressure adjustment screw
M22 x 1.5 SW 32 6kt SW8
Flow adjustment screw
R 418MAX. 57
10
qv2.ll 73
t— Priming port
qv2.l
3 07.94 158 x38 Control CH
& T 2,2 L | °§
ol NN N
_j \ §
4xM12, — - 8 ]
20tief/ deep /prof| \% o S
° 18.512| @ Inlet port Outlet port
) 7 —| 0 SAE 1 1/2 SAE 1 1/2
3572565 38 SAE J518
300

www.yeoshehydraulic.com




	p06
	p07
	p08
	p09
	p10

